[image: image1.png]\3 '
P

B.E./B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010,

FIFTH SEMESTER
CIVIL ENGINEERING
CE1305 — FOUNi;ATIOﬁ E\NGINEERING
(R’E’GULATIONS‘ZOM)
Time : Three hours ; Maximum : 100 marks
Aﬁswer ALL questions.
PART A — (10 x 2= 20 marks)
1. What arethe various methods of site exploration?
2. What 13 chunk sampling?
3. Define safe bearing capacity.
4. What is differential settlement?
5. What is floating foundation?

6.  Differentiate between shallow foundation and deep
foundation.

7.  State Hiley’s formula.
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What is batter pile?

Differentiate between active earth pressure and passive
earth pressure.

State any three assumptions made in Rankine’s theory of
active earth pressure.

(@)

®

@

®)

PARTB — (5;«"16 = 80 marks)
Explain any twe peneti\ation tests that are most
commonly used for site exploration
N
Or y
Give an e.tlab'i)rate“nccount on soil samples and
samplers.

Describe abeut the settlement of foundations on
granular and clay deposits.

Or

A strip footing 2m wide carries a load intensity of
400 kN/m? at a depth of 1.2 m in sand. The
saturated unit weight of sand is 19.5 kN/m? and unit
weight above water table is 16.8 kN/m® The shear
strength parameters are ¢ = 0, and angle of internal
friction is 35°. Determine the factor of safety with
respect to shear failure for the following cases of
location of water table using Terzaghi's equation.
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(i)  Water table is 4m below ground level.

(i) Water table is 0.5m below ground level.

(iii) Water table is 2.5m below ground level.

(iv) Water table is at ground level itself.

Explain with neat sketches, the contact pressure
distribution below footings:and rafts.

Or

A square cht{ng 1.2 mx X 1.2m rests at a depth of
lmina saturm;ed clay layer 4m deep. The clay is
normally consoﬁdﬂted having an unconfined
compressive strength of 40 kN/m?.

The soil has a liquid limit of 30%, y sat=17.8 kN/m?,
w = 28% and G = 2.68.

Determine ;hé load which the footing can carry
safely with a'factor of safety of 3 against shear. Also,
detexmine the settlement if the footing is loaded

with this safe load. Use Terzaghi's analysis for
bearing capacity.

Explain the types of piles and their function with
neat sketches.

Or

; ()




[image: image4.png]15.

®

(2)

o)

@) Design the friction pile group to carty a load of
3000 kN including the weight of the pile cap at

a site where the soil is uniform clay to & depth

of 20 m, underlain by rock. Average unconfined
compressive strength of clay is 70 kN/m3. The

clay may be assumed to be of normal
sensitivity and normally loaded with liquid
limit, 60% .A factor of safety of 3 is required
against shear fa/i!ura )

(i) Givea brief Aécoyxet an negative skin Friction.
’ ®)

A retaining ‘wall 4 m high, has a smooth vertical
back. The backfill has a horizontal surface in level
with the top of the wall. There is uniformly
distributed, surcbai‘ge load of 36 kN/m? intensity
over the backfill. The unit weight of the backfill is
18 kN/m?; its. angle of shearing yesistance is 30° and
cohesion is zero. Determine the magnitude and point
of application of active pressure per meter length of
the wall.

Or

Explain Rebhann's graphical method to find the
active earth pressure.





